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QUESTION 1

Which three approaches arc considered a PegaUnit: testing best practice? (Choose Three) 

A. A test ruleset is placed at the top of an application\\'s ruleset stack. 

B. A test case uses limited assertions. 

C. A test case groups relevant asseitions together. 

D. A test case is not necessary when an error message is the expected result. 

E. A test case focuses on a single area of functionality. 

Correct Answer: BDE 

 

QUESTION 2

A pega application has cases that represent customer accounts each with many members. 

When a member of a customer account registers with the application through an offline component, a related
registration transaction is recorded. An advanced agent updates the customer account cases with new members. The
application is running in a multimode system and advanced agents are enabled on all nodes. Which two elements are
valid design choices? (choose two) 

A. Use the optimistic locking option on the case types. 

B. Create a Registration subcase configured to run in offline mode. 

C. Leverage the default object lock contention requeuing capability. 

D. Override DetermineLockString to use .AccountID instead of .pyID as the lock string. 

Correct Answer: BC 

 

 

QUESTION 3

XYZ Corp requires employees to designate alternate operators to perform their work while they are on vacation. Work
vacationing operators should be visible to alternate operators. How do you configure the application to handle this
requirement? 

A. Add a ValueList Property to Data Admin-Operator-ID. Alternate operators add vacationing persons to their ValueList.
Modify the Assign Worklist report definition to include this ValueList. Modify security accordingly to allow access. 

B. Modify the user portal to only display team members for which the operator has been designated an alternate.
Clicking on an operator displays that operator\\'s worklist. Assignments are opened accordingly. 

C. Define a custom Access When rule named pxAssignedToMeOr Alternate. Modify the pyUserWorkList Report
Definition using this rule to display every Assign-Worklist assignment within the WorkGroup. 
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D. Develop an agent that transfers worklist assignments from the operator going on vacation, when that vacation starts,
to the alternate operator. When vacation ends, transfer uncompleted assignments back. 

Correct Answer: B 

 

 

QUESTION 4

While configuring GetNextWork, overriding the System Settings rule 

GetNextWork__WorkBasketUrgencyThreshold imposes a minimum cutoff value for assignment urgency. 

Which statement accurately depicts the system behavior when the GetNextWork_WorkBaseketUrgencyThreshold
setting is overridden? 

A. The override ignores other criteria in GetNextWork. 

B. The override causes the application to revisit workbaskets for assignments with lower urgency. 

C. The override causes a search of only those assignments with the urgency higher than the threshold value. 

D. The override causes a search of all assignments in a work queue that equal or exceed the set urgency threshold. 

Correct Answer: D 

 

QUESTION 5

A case can be withdrawn using a local action. You want to restrict the ability to withdraw a case to the user who created
the case or any work group manager of the user. Select three rule types used in combination to achieve this
functionality. (choose three) 

A. Access Deny 

B. Access When 

C. Access Control Policy 

D. Access of Role to Object 

E. Privilege 

Correct Answer: ADE 
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